20235 FE EHREREREE

BEEEREE
FE FHEREBEE SHSRIRE
HEE HF EE
20234 £ 1155 65.0 65.0 65.0
ONE WEXG&RE
2023%FE &1 JSALRT-S 55.0 55.0 55.0
20234FF S 1185 65.0 65.0 -
BRI
2023%FE & 1 JSALRT—S 55.0 55.0 -
Bl
[SPRICAVAV[ 32 20234FF S 11858 - 55.0 -
(FE—8EZ) x2 2023%E & 1 S5ALAT-S - 47.5 -
20234 F S 11858 55.0 55.0 55.0
T \ALAIVBRE
20234%E & 1 S5ALAT-S 47.5 47.5 47.5
20224F[F £Hi= 1185
N 65.0 65.0 65.0
ONE WEXE B 20234FF £ 2 15
20224 ES 1 T3 LAT-S 55.0 55.0 55.0
20224F[F £ 11585
D s 65.0 65.0 -
— 20234FF £ 2 155
20224 |1 T5ALAT-S 55.0 55.0 -
m2% 202262 28 1B
e = EWLE 5 - -
N N LBIEE 20236 ke 2 st 55.0
(FE—ERE) x2 20224 |1 T5ALAT-S - 47.5 -
20224F[F £ 11585
s 55.0 55.0 55.0
Ry )AL AR 20234FF £ 2 155
20224FE B 1 T5ALAT-S 47.5 47.5 47.5

W1 BEORE

RAEREBEZHILTVSIHAE. [ONE WEXYIER ITONE WEX{EZ 16 ZH TEEY.
%2 AIPE-BHERCESHEMRLET .

= 1TONE WEXEE (1>7>37) 1. B 2IONE WEXZEE (1>7>27) IBLUTONE WEXSEBREY (1>7>37) 1.
BERRAEIC L DRE I TVE R Ao SRETA M CREZEUSL T2V,

REEEREEE
C Y3 BELANI-K HAHBLAI it
=5 8% =i =Ry
20224 5 1~ 3 [0 2 2485
ONE WEX 20226 SHFHEFANS 21551
ONE WEXEA 20224EF DI 2 15 65.0 65.0 60.0 65.0
. ONE WEXTA = -
ow /Bt ONE WEXEE 20234 SHETAMER
ONE WEXIZ} 20234 SFTER
EELAIL 20226/ B 2 A LAF—
55.0 55.0 55.0 55.0
20234EE JSHLIF—S
20224FFE 5 1 ~ 3 [B] 2 2485
20224EE BT NG 2 185
=34 20224E[E DHRERE 2 85 62.5 62.5 - -
T RTLAIL 20234 SFHETAMER
20234 SR
20224 7 2 I LAT—
52.5 52.5 - -
20236 TS LAT—
20224 5 1~ 3 [0 2 2185
MR AL AN 202265 £HFHETANS 21851 57.5 57.5 - -
20224 DHETIRE 2
H A BEA /LAY 20234 SHETAMER 55.0 55.0 - -
TH s+ ) \ALAIL 20234 SFTER 55.0 -

KT OREREREMERBL TLBIEEE. TONE WEXYIIE ITONE WEX{LF |6 TEFT .




